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Output of sir_graph (©)

mfold_util 4.7

2ERY
C/ \
<
-« @)
/ Ol
Y TA
o .
R S SR &
) N 7N\ \
G/ \G/ / ‘G
oL 00 &
G/ \H /U/C
< \ O-O0
? [ 5
<
/ \G/C\G
<C D
/ 2 4
_O o
O™ \ / /C
3 o
(@)
- \A/U\
O
1O /N =
SGNEEE Rty /2
o~ < \G C\Cz b
58 _O7\ _0—0
4/_/ _O7 N _O7
S - N _O7\ O
O~ «
Dt A\u _P-0 g 4_
—L=-0-0-0— AN
n_u b h h_v A_u L-0-0 /U|C|C|C|C/
—2—0-0-0- I 1 L
O o—0 1 1 0
O-0 / % o
mn/ O, ©
/A MG/PO\ / /CIulU/
=0 AN
SRS @) O
7N\ - s’ Ol
\A 0~ D \G /C
7\ % | O
O 0} o | N,
% O | /
\ —
<Y 4 " o
d ) < 07\
\ \ | | \ O
O O=0 G\ \
O=0 Q /C
O 07
= <
< S Ty o
I 07 /C
O=0 \ I
h_,! Oy
O-0 =0
A\ ’
U]
R N

dG = -140.1 MDV-1 (-) RNA



